LABJNDu? triangle lightnesst*
t* Ync_YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)V(A 20A0n)] (Ynd/100<Y<=Y, )
t(3.6)=146 1* ,(18)=332,t* (90)=517

log[t*/t* ,]=0, m;=0,33
L* =49, t* ;=332

(R ———

LABJINDu7
tristimulus value difference

Yoc=Yw - nc=100,
tLagaNDu7=[IN[(A 1n+A2nV)/(A 2rA0n)] (Yac/100Y<=Yso)
dY=Agn(A1+AY)  Aq=0,017, A,=0,0058
Aonpss=1,5, Aon a=1,0, see CIE 230:2019
o
‘0
t*,=332, dY,=0,17, dY,/"(,=0 4098 &
log(dY)=0,17, m=C,87

a?)plicalion

log (AY/Y) LABJNDu?7
_ tristimulus value sensitivity
SHEYY Yoc=Yw - nc=100,

L aBINDU7=IINI(A 1A I(A 2nA0n)] (Yo 100<Y<=Y,0)
AYIY=AG A 1Az YVY

log(dY/Y)E—2,00 m,=—0, 2.

’ 4

= Eyan pllcauon
=0,00981 ?&1

1

1

1Y,=18
Yw=90

Yn=3.6

log (Y/AY)
C,=(Y/AY)

LABJINDu7
tristimulus value contrast

Yoc=Yw - nc=100,
tLagaNDu7=[IN[(A 10+ A2nV)I/(A 20A0n)] (Yac/100Y<=Yso)
YIAY=Y/[Agn(A1ntA2RY)]

g e e e a n h

log(Y/dY)=2,00 m=0,1] ».* Sl —_———
* 1 application

1 range

1y,=18

1 Yw=90

—

LABJINDuU? relative triangle lightnesst*/t*,,
t/t* u Ync‘YW nc_loox

t*LaBINDU7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,0)
t(3,6)=146 1 ,(18)=332,*/(90)=517

LABJNDuUTY relative
tristimulus value difference

Yne=Yw nc=100,
t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
AYIY,=AgfA 1 +AgYIdY,

log(A Y/AY W)
AYIAY,

a;plicatijn-
1 range
1y,=18
Yw=90

log [(AY/Y) I (AYIY)] LABJINDuU? relative
tistimulus value sensitivity

SSu=OYMIBYNy . =y, =100,

t* LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
@YIYYAYPY,=(AgtAg Y)Y AYIYY]

log[(dY/YY(dY/Y),]=0, mu——O,ll -
*,=332, dY,=0,17, dY,/Y,=0,0098 | ?g’%‘gm")”
1y,=18

=Clp log

Yn=3.6
log [(Y/AY) I (YIAY),] LABJINDu? relative
tistimulus value contrast
CrlCry=(YIAVI(YIAY)y v 2y 2100

nc=100,

t*LaBINDu7 =[IN[(A 17+A20Y)I(A 20A0n)] (Ynd/ 100<Y<=Y,,0)
(YVIAYY(YIAY ) =Y IYIAY )T oA g Agr V) (Y/AY),

logI(Y/dYY(Y/dY)J=0, m,=0,11

| m A
t*,=332 dY,=0,17, Yu/djt‘”‘ ——
1 application
1 range
'y,=18

Yy=90




